4.0SZTALY MATEMATIKA
Szép napot!Ezt is megtudod csinalni,mert megtanultuk a szorzotablat!Hajra!
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1. Szamold ki !
Al2]-[8]= B/2[4|:]8]= Cl(1] - |8)[+|(1]6]: |8)=
4 -8|= 40 :8|= (8 -18)+/(80|:8)=
8|-8|= 56/:8= (0 -18)+|(8 :8)=
3-18|= 8/0/:/8|= (10/-18)-1(24|:8)=
5-8|= 712|:(8|= (7] -18)-1(32]:18)/=
6|-8= 1/6/:8|= (9 -18)-1(56:8)=
2. Igaz |i| vagynem [n|?
A3 -8=24 B|3[2/:/8[=|5 Cl4|-(8/>|3/3
5-18/=45 40/:8/<4 7-18/>|3|2
6 -8>438 5\6/:/8[>3 8/-18/>/5/6
0/-8/=8 8(0/:/8[>|6 9/-18=64
2|-18|<[1]5 7\2|:|8|=|7 8/:/8(=|7|3
11-18(>|0 1/6]/:8[<|8 214 :8>64
3. Pétold a hianyzé szamokat !
A 8 3 4 6 8 0 9 1 112
24 8 16
4 8
B 8 1/6|/ |8/0] [4/0] [3/2] [2/4] [5|6
v 2 6 9 9
| G 8 1/6/ [(8/0] [4(0] [3[2] [2/4 4.8 Vs
v 24 64 80
5
D'_8 1/6| (8|0 [4/0] [3]2 56/ |4/8
¥ 116 64 6
| 1B | g[17]2] [8[0] [3[2[ [4]0] [1]6] [2[4] [5]6] [4]8 =
v
4. Folytasd!
0| [8] [1]6




